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QUESTION 1

Which of the following allows an administrator to predict SAN utilization in order to plan the storage department\\'s
capital expenditure target? 

A. Forecasting 

B. Base lining 

C. Planning 

D. Trending 

Correct Answer: D 

 

QUESTION 2

An administrator has just archived 50 percent of a file share\\'s data to tape. The administrator then proceeds to clear
the unused space so that it is available for use by the server and array. On the array, the original LUN was provisioned
in a way that allows such an operation. This process is called which of the following? 

A. Thin provisioning 

B. VLAN configuration 

C. Thin reclamation 

D. VSAN configuration 

Correct Answer: C 

 

QUESTION 3

Assuming that unique keys exist for each tape backup job, which of the following is the BEST advantage of using Tape
encryption in regards to expiring tapes? 

A. Tapes that are expired only need to be reformatted to make the data inaccessible. 

B. Tapes that are expired only need the keys destroyed to make the data inaccessible. 

C. Tapes that are expired only need to be overwritten without reformatting to make the data inaccessible. 

D. Tapes that are expired must be degaussed to make the data inaccessible. 

Correct Answer: B 

 

QUESTION 4

Which of the following technologies would be used to connect to traditional Direct Attached Storage (DAS)? 
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A. IP 

B. eSATA 

C. iSCSI 

D. NFS 

Correct Answer: C 

 

QUESTION 5

A storage administrator is troubleshooting lack of connectivity between an iSCSI-initator and iSCSI-target that is located
behind a firewall. The firewall has the following active rule base: 

Allow udp port 3260 

Allow tcp port 443 

Allow icmp all 

Deny all 

Which of the following is the MOST likely issue? 

A. iSCSI does not function behind a firewall due to the RPC protocol. 

B. iSCSI also requires TCP/3260 to be allowed. 

C. The issue is not firewall related as iSCSI is not a TCP/IP-based protocol. 

D. iSCSI does not function behind a firewall due to NAT requirements. 

Correct Answer: B 
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